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Archaeologist have unearthed several thousand copper coins issued by :
Kushanas
Question: Romans
Yaudhayas

.\Iaur_\'as

CUET HISTORY 2022



191211 CUET 2023

Who among the following rulers adopted the title “Devaputra” or ‘Son of god” ?
(1) Chola Rulers

Question: (2) Maurya Rulers
(3) Gupta Rulers

(4) Kushana Rulers
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The Harappans procured Lapis Lazuli, a blue stone from :
(1) Nageshwar

(2) Shortughai

(3) Balakot

(4) Lothal
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[dentify the first Director General of the Archaeological Survey of India :
(1) R.E.M. Wheeler
Question: Alexander Cunninghum
John Marshall

Da ya Ram Sahni
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Name the Chinese traveller/scholar who visited the Patliputra city in 7" century CE, he
found it in ruins and with small population ?

Fia-Xian

Xuan Zang

O-Sing

[t-Sing

Question:
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According to Manusmriti, which among the following is NOT one of the means for men
to acquire wealth ?

(1

)  Conquest
(2) Investment
)

2
5
Y

(

(4) Inheritance

Stealing
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According to Manusmriti, Endogamy refers to marriage :

Outside the Kin or caste group
Within the kin and caste group

Practice of a man having several wives

Practice of women having several husbands
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Match List - I with List - I1.
List - I List - II
(A) Shahada (D Fasting during the month of Ramzan
(B) Salat (1I) Prophet Mohammad is messenger of Allah
(C) Sawm (IIT) Giving alms
(D) Zakat (IV) Offering prayers five times a day
Choose the correct answer from the options given below :
(1) (A) - D), (B) - (IV), (©) - (), (D) - (1)
(2) (A) - (II), (B) - (IV), (©) - (I), (D) - (II)
(3) (A) - (ID, (B) - (D, (©) - (IV), (D) - (11D
(4) (A) - (1), (B) - (1), (©) - (D), (D) - (IV)
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Who among the following has written in detail about the unique communication or about
the postal system of Delhi Sultanate ?

Al-Biruni
Question:

Abdul - Razzaq Samarqandi
[bn Battuta
Peter Mundi
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Match List - I with List - I1.

List - 1 List - II

Titles Sufi - Shaikh
(A) Sultan-ul-Mashaik h (1) Khwaja Muinuddin
(B) Gharib Nawaz (1I) Shaikh Fariduddin
) Ganj-i-Shakar (111) Nizamuddin Auliva
(D) Chiragh-i-Delhi (IV) Shaikh Nasiruddin
Choose the correct answer from the options given below :
(1) (A) - (IID), (B) - (D, (©O) - dD, (D) - AV)
(2) (A) - (D, (B) - dI), (©) - (III), (D) - (IV)
(3) (A) - (IV), (B) - (I1II), (O - (1D, (D) - (D)
(%) (A)-(IOD. (B) - (OV), (O -D. (D) - (1D

Questuon:
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Out of the given options choose the most appropriate one to define ‘Density of
Population’.

Question:
Number of live births in a year per thousand of population.
Change in number of persons of a temitory during a specific peniod of tume.

Ratio between the number of women and men m the population.

Number of persons living in per square km of an area.
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In Indonesia and Malaysia, shifting cultivation is known by which of the

(Question: . - :
tollowmg names?

‘ Jhuming
‘ Milpa
‘ Ladang

Viticulture
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Question: In which of the following countries, Rulr mdustnal region is located?

France

‘ Spain

Genmany

‘ England
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‘ Question: [ Which of the followmg is the longest lughway in India?
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L |

Question: Name the telecommumication service, wiuch 18 not considered as “Mass Media™’

‘.'éu ‘ Mobile phone

T
ﬁﬁ

Newspaper
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— In which of the following period negative growth rate of population was recorded
Question: : ? - -
mn India?
A: 1901 - 1911

' B: [1911 - 1921 |

1951 — 1961

1971 — 1981
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Question:
Al
B:
C:

D
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Which one of the followimng i1s the length of Panama Canal?

| 160 Km

[ 72 Km

11'.’ Km

195 K
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*‘Neeru — Meeru” a watershed development and management programme is
associated with which of the following?

| A Rajasthan

[ Andhra Pradesh

Question:

| [ Tamul Nadu

Haryana
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Question: The Big Trunk Route runs through which of the following?

l A | The North Atlantic Ocean
‘ B: l The Mediterrancan — Indian Ocean

‘ C; The South Atlantic Ocean

‘ D | The South Pacific Ocean
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A geothermal energy plant has been commissioned at which of the following
places?

‘ A: | Okhla in Delhi

Question:

| B: Tarapur in Maharashtra

Manikaran m Himachal Pradesh

| MNarora in Uttar Pradesh
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In Indonesia and Malaysia. shifting cultivation is known by which of the
tollowmg names?

| A ‘ Jhuming

Ouestion:

Iti Ladang

Viticulture
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Economic variables such as ‘National Income” and “profits’ can be classified under which
of the following heads ?
(1) Stock concept
L (2) Flow concept
(3) Depreciation

(4) Final goods
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Name the architect of Indian Planning :
(1) William Digby

Question: (2) P.C. Mahalanobis
(3) V.K.R.V. Rao
(4) Dadabhai Naoroji
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Which of the following is not included in Human Development Indicators ?

(1) Women Empowerment

2) Infant Mortality rate

3)  Access to basic sanitation
)

4

(
(
(

Gross National Income per capita
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Identify the quantitative tools used by RBI to control money supply.
(A) Moral Suasion
(B) Bank Rate
(C) Cash Reserve Ratio
(D) Open Market Operations
Question: (E) Margin requirement
Choose the correct answer from the options given below :
(1) (A) only
(2) (B), (C) and (D) only
(3) (B) and (C) only
(4) (A) (D) and (E) only

CUET ECONOMICS 2022



Question:

=) idieial CUET 2023 M4

(Event) (Year)
(A) Planming Commission (1) 1948
(B) First Phase of Green Revolution (1I1) 1955
(C) Karve Committee (I11) 1950
(D) First Industrial Policy Resolution (IV) Mid 1960 - 1970

Choose the correct answer from the options given below :
(1) (A) - dII), (B) - AV), (©) - (1), (D) - (D
(2) (A) - AID), (B) - (1), (O - (dD), (D) - OAV)
3 A -0, (B)-AV), (©) - (1), (D) - (1)
(4) (A) - (ID), (B) - (I), (©O) - (IV), (D) - (D
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'Y 48,000 cr is allotted for PM Awas Yojana in this years budget'.
[dentify the government objective fulfilled from the statement above.
(1) Economic stability

2) Redistribution of income

(
(3) Reallocation of resources
(

4 Reducing regional disparities
O k)
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Which one of the following is the apex body to coordinate the activities of all institutions
involved in the rural financing system ?

(1) NABARD (National Bank for Agriculture and Rural Development)

NSSO (National Sample Survey Organisation)
SEBI (Securities and Exchange Board of India)
RBI (Reserve Bank of India)
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Match List - I with List - Il
List - I List - II
(Programmes) (Objective)
(A) National Social Assistance Programme (1) Promoting savings
(B) Mahatma Gandhi National Rural (1) Pension to the elderly
Employment Guarantee Act
Question: (C) Prime Minister’s Rozgar Yojana (III) Self-employment programme
(D) Pradhan Mantri Jan Dhan Yojana (IV) Wage employment programme
Choose the correct answer from the options given below :
(1)  (A) - (1), (B) - (IV), (O) - (III), (D) - (I)
(2)  (A) - @, (B) - AV), (O) - (11D, (D) - (1))
(3)  (A) - II), (B) - (III), (©) - (IV), (D) - ()
(4) (A) - (A1), (B) - AV), () - (1), (D) - (IT)
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Match List - I with List - I1.
List - I List - II
(Financial Terms) (Examples)
(A) Monetary Base (I) Loans extended by banks
(B) Assets (1I) Reserve Bank of India
. ) () Liabilities (II1I) <Currency
R (D) Credit control (IV) Deposits accepted by the banks
Choose the correct answer from the options given below :
(1) (A) - (D), (B) - (1I), (©) - (11I), (D) - (IV)
(2) (A) - JID, (B) - (), (O) - AV), (D) - (D)
(3)  (A) - D), (B) - (IV), (O) - (), (D) - (1D
(4)  (A) - aOV), (B) - (11D, () - (ID), (D) - ()
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